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<?xml version="1.0" encoding="UTF-8"?>
<ClinicalDocument xmlns="urn:hl7-org:v3" xmlns:mif="urn:hl7-org:v3/mif"
xmlns:xsi="http://www.w3.0rg/2001/XMLSchema-instance"
xsi:schemalocation="urn:hl7-org:v3 ..\sdschemas\SDA .xsd">
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Header
s she sk sfe sk she st sie sfe she sk sfe sk ske sfe sie sk st sie sfe sk sfe sk sk ske sk sk sfe sk sfe sfe sk sfe sk sk ste st sfe sk s sfe sk sk ste sk sfeske sk seskeoske skeske sk sk
->
<realmCode code="CN"/>
<typeld root="2.16.840.1.113883.1.3" extension="POCD_MT000040"/>
<templateld root="2.16.156.10011.2.1.1.33"/>

<l-- XCHYRAKS >
<id root="2.16.156.10011.1.1" extension="RNO001"/>

<code code="C0013" codeSystem="2.16.156.10011.2.4" codeSystemName="_1 £ {5 B4t = R4 4t ik R />
<title>%y Il el 3% </title>

<l-- SCRHLER L A >
<effectiveTime value="20121024154823"/>

<confidentialityCode code="N" codeSystem="2.16.840.1.113883.5.25" codeSystemName="Confidentiality"
displayName="1F i 1Jj [n] {2 25" />
<languageCode code="zh-CN"/>
<setld/>
<versionNumber/>
< --RIE TR (EFED  [1..%] contextControlCode="OP" &/~ A5 B n] LAY & #-->
<recordTarget typeCode="RCT" contextControlCode="OP">
<patientRole classCode="PAT">
<1125 hriR-->
<id root="2.16.156.10011.1.11" extension="HA201102113366666"/>
<l-AEBE 5 hRiR-->
<id root="2.16.156.10011.1.12" extension="HA201102113366666"/>
<l L S ->
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<id root="2.16.156.10011.1.24" extension="HA201102113366666"/>
<patient classCode="PSN" determinerCode="INSTANCE">

<1-- B SAPIE S FRiR-->
<id root="2.16.156.10011.1.3" extension="420106201101011919"/>

<name>Z* & ¥ </name>
<administrativeGenderCode code="1" displayName=""5 {£"
codeSystem="2.16.156.10011.2.3.3.4" codeSystemName=""EF V4 H {05 % (GB/T 2261.1) "/>
<l-- FhE >
<age value="30" unit="%'"/>
</patient>
</patientRole>

</recordTarget>

<l-- XHBIEE >
<author typeCode="AUT" contextControlCode="OP">
<time value="20110404"/>
<assignedAuthor classCode="ASSIGNED">
<id root="2.16.156.10011.1.7" extension="234234234"/>
<assignedPerson>
<name>Z* % AF </name>
</assignedPerson>
</assigned Author>

</author>

<l REN >
<custodian typeCode="CST">
<assignedCustodian classCode="ASSIGNED">
<representedCustodianOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.5" extension="[&J7 A HLH % 5"/>
<name>xx[% it </name>
</representedCustodianOrganization>
</assignedCustodian>
</custodian>
<|--BE %544 -->
<authenticator>
<1--ZE44 H ) a]-->
<time value="201210111212"/>
<signatureCode/>
<assignedEntity>
<id root="2.16.156.10011.1.4" extension="1% 55 \ A %5 "/>
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<code displayName="[%&Jifi"/>
<assignedPerson>
<name>Z* % Jifi</name>
</assignedPerson>
</assignedEntity>

</authenticator>

<relatedDocument typeCode="RPLC">
<parentDocument>
<id/>
<setld/>
<versionNumber/>
</parentDocument>

</relatedDocument>

<l RS b XL BEEMER R >
<componentOf>
<encompassingEncounter>
<effectiveTime/>
<location>
<healthCareFacility>
<serviceProviderOrganization>
<asOrganizationPartOf classCode="PART">
<!-- DE01.00.026.00%% /K5 -->
<wholeOrganization classCode="ORG" determinerCode="INSTANCE">
<id root="2.16.156.10011.1.22" extension="001"/>
<name>1K</name>
<!-- DE01.00.019.00% 55 -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.21" extension="001"/>
<name>205 % </name>
<!-- DE08.10.026.00F} = 4 FK -->
<asOrganizationPartOf classCode="PART">
<wholeOrganization classCode="ORG"
determinerCode="INSTANCE">
<id root="2.16.156.10011.1.26" extension="001"/>
<name>FEI Y Bl </name>
<!-- DE08.10.054.00% X # F} -->
<asOrganizationPartOf classCode="PART">

<wholeOrganization classCode="ORG"

16




WS/T XXXXX—2013

determinerCode="INSTANCE">

extension="001"/>

classCode="PART">

classCode="ORG" determinerCode="INSTANCE">

extension="001"/>

<id root="2.16.156.10011.1.27"
<name>177 [X </name>
<)--XXXEERE -->
<asOrganizationPartOf
<wholeOrganization
<id root="2.16.156.10011.1.5"
<name>XXX & Bt </name>

</wholeOrganization>

</asOrganizationPartOf>

</wholeOrganization>

</asOrganizationPartOf>

</wholeOrganization>

</asOrganizationPartOf>

</wholeOrganization>
</asOrganizationPartOf>
</wholeOrganization>
</asOrganizationPartOf>
</serviceProviderOrganization>
</healthCareFacility>
</location>
</encompassingEncounter>

</componentOf>

| 3 sk sk sk sk sk sk sk sk ok stk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk skl stk stk sk skok ok skok sk skok ok skok ko

W HiABody

sk sk sk sk sk sk sk sk sk sk st ste sk st ste sk sk she sk ske sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk ske sk sk skosk sk sk sk sk sk skt skoskoskoskoskoskok
>
<component>
<structuredBody>

<!--

sk stk ok ok sk ok ok sk ok ook sk sk okok sk sk ok ok sk ook sk okokok skokokok sk akokok sk ok kool kol ok Rk kR

PRI vR e ]

sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk she sk sk sk sk sk sk sk sk sk sk sk ske sk sk sk sk sk sk sk sk sk sk sk sk ste sk sk ste sk sk sk sk skokokoskokoskokok
-->

<component>

<section>

<code code="30954-2" displayName="STUDIES SUMMARY"

codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>
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<text/>
<entry typeCode="COMP">
<l-- I fY-—>
<organizer classCode="BATTERY" moodCode="EVN">
<statusCode/>
<component typeCode="COMP" contextConductionInd="true">
<!-- ABOIL A -->
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.001.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 44 7t H 3" displayName="ABO L R fXi5"/>
<value xsi:type="CD" code="1" displayName="A%!"
codeSystem="2.16.156.10011.2.3.1.85" codeSystemName="ABOIfl B4 5 %" />
</observation>
</component>
<component typeCode="COMP" contextConductionInd="true">
<!--Rhifl %Y -->
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.010.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥4 7t H 3% " displayName="Rh (D) IR AA5"/>
<value xsi:type="CD" code="2" displayName="H{
codeSystem="2.16.156.10011.2.3.1.250" codeSystemName="Rh (D) Il FfigZ%"/>

</observation>

</component>
</organizer>
</entry>
</section>
</component>
<l--
sk sk sk sk sk sk sk sk sk sk st ste sk st sk sk sk sfe sk ske sk sk ske sk sk sk sk ste sk sk sk sk ske sk sk sk sk sk sk sk ske sk ske st ske sk sk sk skokokokokoskokok
= A R 1 e
sk sk sk sk sk sk sk sk sk sk st ste sk st sk sk sk sk sk ske sk sk sk skeoske sk sk sk ske sk sk sk sk sk sk sk sk sk sk sk ste st ske st sk sk sk sk sokokokokoskokok
>
<component>
<section>
<code code="11450-4" displayName="PROBLEM LIST"
codeSystem="2.16.840.1.113883.6.1" codeSystemName="LOINC"/>

<text/>
<1 Wi —->
<entry>

<observation classCode="OBS" moodCode="EVN">
<1 W >
<code code="DE05.01.024.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T =15 & ¥4 7t H 3" displayName="%J 12 W4 "/>
<value xsi:type="CD" code="506.902" displayName=""{1{% 4 i 5 17"
codeSystem="2.16.156.10011.2.3.3.11.3" codeSystemName="1Z¥i{LiZ (ICD-10) "/>
</observation>
</entry>
</section>
</component>
<! L >
<component>
<section>
<code code="56836-0" codeSystem="2.16.840.1.113883.6.1" displayName="History of
blood transfusion" codeSystemName="LOINC"/>
<text/>
<entry>
<procedure classCode="PROC" moodCode="EVN">
<I--fgy i H A >
<effectiveTime>
<high value="20121012112233"/>
</effectiveTime>
<entryRelationship typeCode="COMP">
<l-- fay il SEARAARRY >
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.106.00" displayName="#4 IflL 52 b iR AL"
codeSystem="2.16.156.10011.2.2.1" codeSystemName="_"F £ {5 H ¥ ¢ H 3"/~
<value xsi:type="CD" code="1" displayName="7J¢"
codeSystem="2.16.156.10011.2.3.2.42" codeSystemName="44i Ifll. 2 bR IRARALF"/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<I-- Fgy i B >
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.147.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥4 7t H 3" displayName="" Ifi. {4 Jii A5 " />
<value xsi:type="CD" code="1" displayName="+4If."
codeSystem="2.16.156.10011.2.3.2.43" codeSystemName=""j Ifl. 4: G AL %" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<l-- HIEABOMAARD >
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.001.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 7t H 3" displayName="H11 ABO Il R fXA5"/>
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<value xsi:type="CD" code="1" displayName="A%"
codeSystem="2.16.156.10011.2.3.1.85" codeSystemName="ABO [l %% "/>
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP">
<!-- HiERhIMAARHY >
<observation classCode="OBS" moodCode="EVN">
<code code="DE04.50.010.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & 445 7T H 3" displayName="H115Rh (D) I AALHG"/>
<value code="2" xsi:type="CD"
codeSystem="2.16.156.10011.2.3.1.250" displayName="FH " codeSystemName="Rh (D) Ifi RfCHZL"/>
</observation>
</entryRelationship>
<l-- fIMARAE -->
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.340.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 B #% 70 H 5" displayName=""%i [l f51L"/>
<value xsi:type="ST">Z Ifl. ¥ % 5 i MG ST (4R AL IR </value>
</observation>
</entryRelationship>
<I-- fifd il >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.181.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥4 7t H 3" displayName="% Il i i %" />
<value xsi:type="ST">*F & & i M1 FE A VR 40 i 1A </value>
</observation>
</entryRelationship>
<I--fgy L AP AR >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.50.040.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 & ¥4 7t H 3" displayName="" Ifi. i F AL " />
<value xsi:type="CD" code="1" displayName="4 Ifl."
codeSystem="2.16.156.10011.2.3.1.251" codeSystemName="4y IfiL & LG "/>
</observation>
</entryRelationship>
<!-- Mt -->
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE01.00.023.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T. {5 B &#% 70 H 5" displayName="1 &% H5"/>
<value xsi:type="INT" value="1234567890"/>
</observation>
</entryRelationship>
<I-fgifE (mL) -->
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.267.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""F 415 & ¥} 7t H %" displayName="#i Il &£ (mL) "/>
<value xsi:type="PQ" value="300" unit="mL"/>
</observation>
</entryRelationship>
<Mt RA >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE08.50.036.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 /& 4045 7C H 3" displayName="4i Ifil &+ & .00 />
<value xsi:type="ST">i A MLy B ML B 73 (0 v &2 i Ar, a3
FHFR, mL, A7, VR EE</value>
</observation>
</entryRelationship>
<l--f i e SR E >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.264.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 5 #% 70 H 5" displayName=""i IfiL ;& S b &"/>
<value xsi:type="BL" value="false"/>
</observation>
</entryRelationship>
<I-fg i e MR >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.265.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T. {5 5 #% 70 H 5" displayName=""i IfiL [z 7 S 84"/>
<value xsi:type="CD" code="1" displayName="/% #"
codeSystem="2.16.156.10011.2.3.1.252" codeSystemName="44j Ifil 5z N ZE T ACHT " />
</observation>
</entryRelationship>
<l FrimxE >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.263.00" codeSystem="2.16.156.10011.2.2.1"
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codeSystemName=""T 415 S &4 7C H %" displayName=""% Ifl. /X %1"/>
<value xsi:type="INT" value="12"/>
</observation>
</entryRelationship>
<l-- fifEE >
<entryRelationship typeCode="COMP">
<observation classCode="OBS" moodCode="EVN">
<code code="DE06.00.107.00" codeSystem="2.16.156.10011.2.2.1"
codeSystemName=""T 415 B £ 4 7C H %" displayName="4 IffL J5 [X]"/>
<value xsi:type="ST">ZR 7~ A YK 4 i ) Jiit (Kl </value>
</observation>
</entryRelationship>
</procedure>
</entry>
</section>
</component>
</structuredBody>
</component>

</ClinicalDocument>
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